Figure S2
Module M2 Module M3 Module M5 ) Module M6

Low risk, n=88 ] ow risk, n=88 ]| ow risk, n=88 |

High risk, n=89 |

Overall survival
0.0 02 04 06 08 1.0

| P=4.89E-4 1p=6.07E-4 1p=5.07E-4 1p=7.75E-4

0 500 1000 1500 2000 2500 O 500 1000 1500 2000 2500 O 500 1000 1500 2000 2500 O 500 1000 1500 2000 2500
Time (days) Time (days) Time (days) Time (days)
Module M7 Module M8 Module M9 Module M10

Low risk, n=88 Low risk, n=88

Low risk, n=88 |

High risk, n=89 High risk, n=89
> 1 P=7.55E-1 1P=2.39E-2 1P=1.89E-2 1P=5.77E-4

0 500 1000 1500 2000 2500 O 500 1000 1500 2000 2500 O 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
Time (days) Time (days) Time (days) Time (days)

Overall survival
00 02 04 06 08 1.0




